0¥ ZAEGEL HELD

EXPANDED VIEW




EXPANDED VIEW




Item | Position name Code
1 Lower boiler door - set (Bio-Tec 25) 20130
2 Middle boiler door - set (Bio-Tec 25) 20133
3 Upper boiler door - set (Bio-Tec 25) 20134
4 Lid for cleaning box - set (Bio-Tec 25-45) 16571
5 Lid for flue gas chamber (Bio-Tec 25) 20135
6 Front lower cover (Bio-Tec 25) RAL 9006 20290 |
7 Front middle cover (Bio-Tec 25) RAL 9006 20291
8 Front upper cover (Bio-Tec 25) RAL 9006 20292
9 Controller protection (Bio-Tec 25) RAL 9006 20293
10 Lateral left cover (Bio-Tec 25) RAL 9006 20294
11 Lateral right cover (Bio-Tec 25) RAL 9006 20295
12 Back cover (Bio-Tec 25) RAL 9006 20296
13 Boiler regulation (Bio-Tec 25) RAL 9006 20297 |
14 Front cover lid (Bio-Tec 25) RAL 8006 20298
15 Middle cover lid (Bio-Tec 25) RAL 9006 20299
16 Back cover lid (Bio-Tec 25) RAL 9006 20300
17 Back upper cover (Bio-Tec 25) RAL 9006 20301
18 Upper air regulation box (Bio-Tec 25) 20148
19 Lower air regulation box (Bio-Tec 25) 20149
20 Flange of the upper air regulation box with the flap (Bio-Tec 25) 20151
21 Flange of the lower air regulation box with the flap (Bio-Tec 25) 20150
22 Fan box lid (Bio-Tec 25-45) 12681
23 Fan box sealing (Bio-Tec 25-43) 16572
24 Fan hinge (Bio-Tec 25-45) 12678
25 Turbulator porter axle (Bio-Tec 25) 20152
26 Cleaning system handle (Bio-Tec 25-45) 12730
27 Turbulator porter (Bio-Tec 25) 20153
28 Spiry turbulator - set (Bio-Tec 25) 20154
29 Boiler chamber dry metal sheet - lateral (Bio-Tec 25) 20155
30 Boiler chamber dry metal sheet — back left (Bio-Tec 25) 20156
31 Boiler chamber dry metal sheet — back right (Bio-Tec 25) 20157
32 Boiler chamber dry metal sheet - front (Bio-Tec 25) 20158
33 Upper refractory stone tube (Bio-Tec 25) 20159
34 Ceramic textile (eur/m2) (Bio-Tec 25-45) 19882
35 Boiler chamber refractory stone - lateral (Bio-Tec 25) 19094
36 Boiler chamber refractory stone — upper right (Bio-Tec 25) 19087
37 Boiler chamber refractory stone — upper left (Bio-Tec 25) 19090
38 Boiler chamber refractory stone — upper back (Bio-Tec 25) 19091
39 Boiler chamber refractory stone — lower front (Bio-Tec 25) 19092
40 Boiler chamber refractory stone — lower back (Bio-Tec 25) 19093
41 Ceramic brade 15x15 mm (eur/m) (Bio-Tec 25-45) 14260
42 Ceramic brade 28x10 mm (eur/m) (Bio-Tec 25-45) 14270
43 Glass brade 20x8 mm (eur/m) (Bio-Tec 25-45) 15478
44 Motor assembly with condenser flange and sealing (Bio-Tec 25) 20160
45 Sealing of the fan flange / flue gas chamber (Bio-Tec 25-45) 12679
46 Cleaning set porter (Bio-Tec 25-45) 12241
47 Poker for clening the refractory (Bio-Tec 25) 16473

48 Brush for cleaning (Bio-Tec 25) 15814
49 Poker for cleaning the lateral opening (Bio-Tec 25) 16474
50 Wire fuse f3 DIN 11024 (Bio-Tec 25-45) 16383
51 Screw M8x60 mm (Bio-Tec 25-45) 15969
52 Plastic handle of the sound box (Bio-Tec 25-45) 19310
53 Insulation porter (Bio-Tec 25) 20161
54 Middle door grill (Bio-Tec 25) 20162




Position 105 - Chamber refractory stone - set (Bio-Tec 25)

35

35

39
40

Item | Position name Code |
105 Chamber refractory stone - set (Bio-Tec 25) 13727

35 Chamber refractory stone - lateral (Bio-Tec 25) 19094

36 Chamber refractory stone - upper right (Bio-Tec 25) 19087

37 Chamber refractory stone - upper left (Bio-Tec 25) 19090

38 Chamber refractory stone - upper back (Bio-Tec 25) 19091

39 Chamber refractory stone - lower front (Bio-Tec 25) 19092

40 Chamber refractory stone - lower back (Bio-Tec 25) 19093




Position 1 - lower boiler door - set (Bio-Tec 25)

L

Item | Position name Code
1 Lower boiler door - set (Bio-Tec 25) 20130
55 Nut for viewing opening (Bio-Tec 25-45) 14433
56 Sealing for viewing opening (Bio-Tec 25-45) 10360
57 Fireproof glass for viewing opening (Bio-Tec 25-45) 14437
58 Boiler door handle (Bio-Tec 25-45) 16574
59 Lower boiler door (Bio-Tec 25) 20163
60 Insulation refractory stone of the lower boiler door (Bio-Tec 25) 18064
61 Lower boiler door refractory stone (Bio-Tec 25) 20164
62 Protection of lower boiler door refractory stone (Bio-Tec 25) 20165
63 Screw M8x90 mm (Bio-Tec 25/45) 15504
64 Glass braid 25x25 mm (eur/m) (Bio-Tec 25-45) 13519

Position 2 — middle boiler door - set (Bio-Tec 25)

B 67
W

66
‘ 65
64 l
585
ltem | Position name Code
2 Middle boiler door - set (Bio-Tec 25) 20133
65 Middle boiler door (Bio-Tec 25) 20166
66 Middle boiler door refractory stone (Bio-Tec 25) 20167
67 Protection of middle boiler door refractory stone (Bio-Tec 25) 20168
64 Glass braid 25x25 mm (eur/m) (Bio-Tec 25-45) 13519
51 Screw M8x60 mm (Bio-Tec 25/45) 15969
58 Boiler door handle (Bio-Tec 25-45) 16574




Position 3 - Upper boiler door - set (Bio-Tec 25)

64

69
41
68
/]
[}
58
~ M
Item | Position name Code
3 Upper boiler door - set (Bio-Tec 25) 20134
68 | Upper boiler door (Bio-Tec 25) 20169
69 Glass braid of the upper boiler door 15x15 mm (eur/m) (Bio-Tec 25) 13518
64 Glass braid of the upper boiler door 25x25 mm (eur/m) (Bio-Tec 25) 13519
70 Sealing of the upper bailer door buffer (eur/m2) (Bio-Tec 25) 20170
71 Protection of the upper boiler door buffer (Bio-Tec 25) 20171
58 Boiler door handle (Bio-Tec 25-45) 16574
Position 4 - Clening box lid - set (Bio-Tec 25-45)
43\
73
51
Item | Position name Code

4 Cleaning box lid - set (Bio-Tec 25-45) 16571
72 Clening box lid (Bio-Tec 25-45) 16600
73 Insulation refractory stone of the lid for clening box (Bio-Tec 25-45) 15586
43 Glass braid 20x8 mm (eur/m) (Bio-Tec 25-45) 15478
51 Screw M8x60 mm (Bio-Tec 25-45) 15969




Position 44 — Motor assembly with condenser, flange and sealing (Bio-Tec 25)

ltem | Position name Code
44 Motor assembly with condenser, flange and sealing (Bio-Tec 25) 20160
74 Fan protection (Bio-Tec 25-45) 12729
75 Fan motor with condenser (Bio-Tec 25-45) 16602
76 Fan flange Bio-Tec 25 (Bio-Tec 25) 20173
77 Paded plate f8 DIN 125 A (Bio-Tec 25-45) 13267
78 Fan sealing f180/35x4 (Bio-Tec 25-45) 16091
79 Fan motor impeller (Bio-Tec 25-45) 12728
80 Nut M8 (left thread) (Bio-Tec 25-45) 16603
45 Sealing of the fan flange / flue gas chamber (Bio-Tec 25-45) 12679

Position 75 — Fan motor with condenser (Bio-Tec 25-45)

ltem | Position name Code
75 Fan motor with condenser 16602
81 Fan motor (Bio-Tec 25-45) 14651
82 Fan motor condenser (Bio-Tec 25-45) 16442




Position 13 - Boiler regulation Bio-Tec (Bio-Tec 25)

100

101

Item | Position name Code l
13 Boiler regulation Bio-Tec (Bio-Tec 25) RAL 9006 20297
83 Double switch with smoulder (Bio-Tec 25-45) 13571
84 Foil keyboard Bio-Tec (Bio-Tec 25-45) 19970
85 Regulation keyboard (Bio-Tec 25-45) 16605
86 Screw for metal sheet 3,9x9,5 DIN 7981 (Bio-Tec 25-45) 13115
87 Distancer f6x6 (Bio-Tec 25-45) 19470
88 Boiler regulation PC board for Bio-Tec - set (Bio-Tec 25-45) 20131
89 Nut M3 DIN 934 (Bio-Tec 25-45) 18876
90 Spring for jumper (Bio-Tec 25-45) 14006
91 Boiler regulation box (Bio-Tec 25) RAL 9006 20309
92 Ordinaly terminal 2,5 - 4 mm2 (Bio-Tec 25-45) 19623
93 Cable porter (Bio-Tec 25-45) 18406
94 Screw 4,0x20 Plasfast 30Z (Bio-Tec 25-45) 12489
95 Boiler sensor (Bio-Tec 25-45) 12773
96 Flue gas sensor (Bio-Tec 25-45) 12774
97 Safety thermostat (Bio-Tec 25-45) 19449
98 Nut M10 (electrical) (Bio-Tec 25-45) 15017
929 Safety thermostat nut (Bio-Tec 25-45) 13185
100 Room sensor (Bio-Tec 25-45) 16607
101 Sensor DHW - hot sanitary water sensor (Bio-Tec 25-45) 16231
102 | Sensor CAS (Bio-Tec 25-45) 16232
103 | Wireing for the boiler regaulation Bio-Tec (Bio-Tec 25-45) 12735
104 Network cable with the plug 3x0,75mm (1=2500 mm) (Bio-Tec 25-45) 16606




